ON THE LORENTZ CONJECTURES UNDER THE L_NORM

YE MAODONG (叶懋冬)*

Abstract

Let $f(x) \in C[-1, 1]$, $p_n^*(x)$ be the best approximation polynomial of degree n to f(x). G. I orentz conjectured that if for all n, $p_{2n}^*(x) = p_{2n+1}^*(x)$, then f is even; and if $p_{2n+1}^*(x) = p_{2n+2}^*(x)$, $p_0^*(x) \equiv 0$, then f is odd.

In this paper, it is proved that, under the L₁-norm, the Lorentz conjecture is valid conditionally, i. e. if (i) $(1-x^2)f(x)$ can be extended to an absolutely convergent Tchebyshev series; (ii) for every n, $f(x)-p_{2n+1}^*(x)$ has exactly 2n+2 zeros (or, in the second situation, $f(x)-p_{2n+2}^*(x)$ has exactly 2n+3 zeros), then Lorentz conjecture is valid.

Let f be a function of C[-1, 1], π_n be the set of polynomials of degree n, and $p_n^*(f, x)$ the best approximation to f in π_n . The following conjectures were proposed by G. G. Lorentz^[1]:

Conjecture 1. Suppose that $f \in C[-1, 1]$. If for all $n \ge 0$

$$p_{2n}^{*}(f, x) = p_{2n+1}^{*}(f, x), \tag{1}$$

then f is even.

Conjecture 2. Suppose that $f \in C[-1, 1]$. If for all $n \ge 0$

$$p_{2n+1}^*(f, x) = p_{2n+2}^*(f, x),$$

then f is odd.

In practice, there is something wrong with Conjecture 2. And E. Saff and R. Varga^[2] added a condition to it, that is

Conjecture 2'. Suppose that $f \in C[-1, 1]$, and f(0) = 0. If for all $n \ge 0$ $p_{2n+1}^*(f, x) = p_{2n+2}^*(f, x),$

then f is odd.

We think it might be more reasonable if we modify the conjecture as follows: Conjecture 2". Suppose that $f \in C[-1, 1]$. If for all $n \ge 0$

$$p_{2n+1}^*(f, x) = p_{2n+2}^*(f, x)$$
 and $p_0^*(f, x) \equiv 0$, (2)

then f is odd.

Though Conjectures 1 and 2 were published in many conferences and papers, the

Manuscript received December 14, 1987.

^{*} Department of Mathematics, Zhejiang University. Hangzhou, Zhejiang, China.

answers are very few. The following result was given by E. Saff and R. Vargatal.

If the function F(t) has an analytic extension F(z) which is an entire function of exponential type τ with $0 < \tau < \pi/2$, i. e.

$$\lim_{r\to\infty} \frac{\ln M_F(r)}{r} = \tau, \quad M_F(r) = \max\{|F(z)|, |z| = r\},$$

then Conjecture 1 (or 2') is valid. Here, for Conjecture 1, F(t) is defined by f(x) + $f(-x) = F(x^2)$, and for Conjecture 2', by $f(x) - f(-x) = xF(x^2)$.

It is not difficult to get that Conjectures 1 and 2" are true under the L_2 -norm.

In this paper we prove that, under the L_1 -norm, the Lorentz conjectures 1 and 2" are valid conditionally. 3.4 美国2011年,其中1995年

Suppose that $f(x) \in \mathcal{O}[-1, 1]$, and $p_n^*(x) \in \pi_n$ is the best approximation to f(x)under the L_1 -norm. We denote the error function by $e_n(x) = f(x) - p_n^*(x)$.

Besides, a Tchebyshev series means the sum from Tchebyshev polynomials, $\sum_{n=0}^{\infty} a_n T_n(x), \text{ where } T_n(x) \text{ is the Tehebyshev polynomial: } T_n(x) = \cos(n \arccos x).$

Theorem 1. Suppose that $f(x) \in C[-1, 1]$. If

(i) $(1-x^2)f(x)$ can be extended to an absolutely convergent Tohebyshev series,

$$(1-x^2) f(x) = \sum_{n=0}^{\infty} a_n T_n(x), \quad x \in [-1, 1]$$
(3)

$$\sum_{n=0}^{\infty} |a_n| < \infty; \tag{4}$$

(ii) for every $n=0, 1, \dots,$ the error function $e_{2n+1}(x)$ has exactly 2n+2 zeros; then the Lorentz conjecture 1 is valid under the L₁-norm.

Theorem 2. Suppose that $f(x) \in C[-1, 1]$. If

- (i) $(1-x^2f)(x)$ can be extended to an absolutely convergent Tchebyshev series;
- (ii) for every $n=0, 1, \dots$, the error function $e_{2n+2}(x)$ has exactly 2n+3 zeros; then the Lorentz conjecture 2" is valid under the Li-norm.

The Proof of the Theorem

Here we only give the proof of Theorem 1. The proof of Theorem 2 is similar. Lemma 1⁽³⁾. Let $f(x) \in C[-1, 1]$, $p_n^*(x) \in \pi_n$ be the best approximation to f(x)under the L_1 -norm. If the error function $e_n(x)$ has exactly n+1 zeros $\xi_1, \xi_2, \dots, \xi_{n+1}$, and the later of the terms of the then

$$\xi_i = \cos \frac{i\pi}{n+2}, \quad i=1, 2, \cdots, n+1.$$
Now we begin to prove (II) and the standard standard

New we begin to prove Theorem 1.

Suppose that $f(x) \in C[-1, 1], p_{2n}^*(f, x) = p_{2n+1}^*(f, x)$. Denote

$$p_{2n}^*(f, x) = b_0 + b_1 x + \dots + b_{2n} x^{2n}$$
.

By Lemma 1, for $\xi_i = \cos \frac{i\pi}{2m+3}$ we have

$$b_0 + b_1 \xi_i + \dots + b_{2n} \xi_i^{2n} = f(\xi_i), i = 1, 2, \dots, 2n + 2.$$

This can be regarded as a linear system with 2n+1 unknows and 2n+2 equations. Since this system has a non-trivial solution, the determinant

$$\begin{vmatrix} 1 & \xi_1 & \cdots & \xi_1^{2n} & f(\xi_1) \\ 1 & \xi_2 & \cdots & \xi_2^{2n} & f(\xi_2) \\ \cdots & \cdots & \cdots & \cdots \\ 1 & \xi_{2n+2} & \cdots & \xi_{2n+2}^{2n} & f(\xi_{2n+2}) \end{vmatrix} = 0.$$
ided difference of $f(x)$

This means that the divided difference of f(x)

$$[\xi_1, \, \xi_2, \, \cdots, \, \xi_{2n+2}]f = 0. \tag{6}$$

Now we assert that if $\eta_i = \cos \frac{i\pi}{m+1}$ $(i=0, 1, \dots, m+1)$, then

$$[\eta_1, \eta_2, \dots, \eta_m] f = \frac{2^m}{m+1} \sum_{i=1}^m (-1)^{i+1} (1 - \eta_i^2) f(\eta_i). \tag{7}$$

In fact, from the definition of the divided diffrence we know that

$$[\eta_1, \eta_2, \cdots, \eta_m]f = \sum_{i=1}^m \frac{f(\eta_i)}{\omega'(\eta_i)},$$

where $\omega(x) = \prod_{i=0}^{m} (x - \eta_i)$. Note that $\{\eta_i\}$ are all the *m* zeros of the polynomial $T'_{m+1}(x)$, so we have

$$\omega(x) = \frac{1}{2^m(m+1)} T'_{m+1}(x).$$

Because the Tchebyshev polynomial $T_m(x)$ satisfies the differential equation^[4]

$$(1-x^2)T''_m(x) - xT'_m(x) + m^2T_m(x) = 0,$$

it follows that

$$\omega'(x) = \frac{xT'_{m+1}(x) - (m+1)^{2}T_{m+1}(x)}{2^{m}(m+1)(1-x^{2})}.$$

Finally we get

$$[\eta_1, \eta_2, \cdots, \eta_m]f = \frac{2^m}{m+1} \sum_{i=1}^m (-1)^{i+1} (1-\eta_i^2) f(\eta_i),$$

and (7) is obtained.

When $(1-x)^2 f(x)$ can be extended to an absolutely Tchebyshev series, i.e.

$$\overline{f}(x) = (1-x^2)f(x) = \sum_{i=0}^{\infty} a_i T_i(x),$$

if we denote $\sum_{i=0}^{m+1} u_i = \frac{1}{2} (u_0 + u_{m+1}) + \sum_{i=1}^{m} u_i$, from (7) it follows that

$$[\eta_{1}, \eta_{2}, \dots, \eta_{m}]f = \frac{2^{m}}{m+1} \sum_{i=0}^{m+1} {}''(-1)^{i+1} \overline{f}(\eta_{i}) = -\frac{2^{m}}{m+1} \sum_{i=0}^{m+1} {}''(-1)^{i} \sum_{j=0}^{\infty} \alpha_{j} T_{j}(\eta_{i})$$

$$= -\frac{2^{m}}{m+1} \sum_{j=0}^{\infty} \alpha_{j} \sum_{i=0}^{m+1} {}'' T_{m+1}(\eta_{i}) T_{j}(\eta_{i}).$$
(8)

According to [4],

$$\frac{2^{m}}{m+1} \sum_{i=0}^{m+1} {}^{\prime\prime}T_{m+1}(\eta_{i})T_{j}(\eta_{i}) = \begin{cases} 2^{m}, & j = (2k+1) (m+1), k = 0, 1, \dots, \\ 0, & \text{otherwise.} \end{cases}$$

Hence we get

$$[\eta_1, \ \eta_2, \cdots, \ \eta_m] f = -2^m \sum_{k=0}^{\infty} a_{(2k+1)(m+1)}. \tag{9}$$

Let $L_m(\bar{f}) = \sum_{k=0}^{\infty} a_{(2k+1)m}$, from (6) it follows that

$$L_{2n+3}(\bar{f}) = 0, n = 0, 1, \cdots$$
 (10)

And it is not difficult to know that $L_1(\bar{f}) = 0$.

Let $\mu(i)$ be the Möbius function. From (4) and (10) we have

$$0 = \sum_{i=0}^{\infty} \mu(2i+1) L_{(2n+1)(2i+1)}(\bar{f}) = \sum_{k=0}^{\infty} \sum_{i=0}^{\infty} \mu(2i+1) a_{(2n+1)(2k+1)(2i+1)}$$
$$= \sum_{m=0}^{\infty} a_{(2n+1)(2m+1)} \sum_{(2i+1)(2m+1)} \mu(2i+1) = a_{2n+1}$$

for all $n=0, 1, \cdots$.

This means that

$$(1-x^2)f(x) = \sum_{n=0}^{\infty} a_{2n}T_{2n}(x).$$

Hence f(x) is even. Theorem 1 is proved.

References

- [1] Lorentz, G. G., Approximation by incomplete polynomials (Problems and results), "Padé and Rational Approximation" (Saff E B. and Varga, R. S. Eds.) p. 289~302, Academic Press, New York, 1977.
- [2] Saff, E. B. & Varga, R. S., Remarks on some conjectures of G. G. Lorentz, J. Approx. Theory, 30(1980), 29-36.
- [3] Powell, M. J. D., Approximation theory and methods, Cambridge University Press, Cambridge, 1981.

医乳糖胶质 医克雷氏病 医二氢

AND CARRY OF THE STATE OF THE S

The second the things of the second second second the second seco

[4] Rivlin, T. J., The Chebyshev polynomials, Wiley, New York, 1974.